Algebra 2



            


Name__________________________
Unit 4, Day 12







Date: _______________ Period: ____
Absolute Value Equations & Other Practice
Show all work and reasoning.  Use a pencil and highlight your answers.
	1.  Solve for x.  
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	2.  Simplify completely.

	a)  
[image: image10.wmf]3

6

8

5

2

yz

x

z

y

x

-



	b)  
[image: image11.wmf](

)

4

2

5

3

c

b

a

-


	c)  
[image: image12.wmf](

)

(

)

9

3

4

0

2

18

3

2

y

x

xy

y

x

-
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	3.  Rewrite in vertex form by:

	a)  completing the square
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	b)  averaging the roots
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	c)  using the formula
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	4.  Factor completely.  Be sure to look for any greatest common factors! 
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	5.  Solve for x by either factoring or completing the square.
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	6.  Solve for x.
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	7.  Levi invests $600 into an account earning 4% annual interest compounded monthly.  How much money will he have in 14 years?



	8.  A $15,000 Honda depreciates at the rate of 12% per year.  

a)  Write an equation.  _________________________
b)  How much is the car worth in 5 years?
c)  To the nearest year, when will the car be worth $1000?

	9.  Write the equation of a parabola with a vertex of (–3, 2) and goes through the point (3, –3).

	10. Graph the equation and determine the following information.  A sketch of the parent graph might help.  
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